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Answer Question 1 and one other question.

Each question carries 40 marks.

1 Study the following extract and answer parts (a) to (c) which follow.

(a) Explain the term federal system as used in the extract. (8 marks)

(b) ‘Prior to the Blair Government, the Conservatives used their majority of English MPs to
impose their policies on the Scottish and Welsh people.’
Using the extract and your own knowledge, explain the implications of this statement to
the debate about devolution. (12 marks)

(c) ‘There is now an overwhelming case for an English Parliament.’ Discuss. (20 marks)

Text from F N FORMAN, Constitutional Change in the United Kingdom,
Routledge, 2002, pp123 and 125.  Not reproduced here due to third-party
copyright constraints. 
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Answer either Question 2 or Question 3 or Question 4.

2 To what extent has the Northern Ireland question now effectively been resolved? (40 marks)

3 Discuss the significance of the difference in powers given by the Blair Government to devolved
elected bodies in Scotland, Wales and Northern Ireland. (40 marks)

4 ‘Nationalism in Scotland and Wales is driven mainly by cultural factors.’ Discuss. (40 marks)

END  OF QUESTIONS
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